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1 — — — — — — | 60LL 90 (w8 2 (4R 52 ££300m)
2 6.0 0. 25 80 1.5 0. 05 10 | 60L4 90T
3 7.0 0. 27 84 1.5 0. 05 10 | 6024 90T
4 7.0 0.23 72 1.0 0. 05 10 | 60L4 90T
5 6.0 0.16 51 1.0 0.03 8 | 304 60T
6 7.0 0.19 61 1.5 0.04 10 | 60L4 90T
0 ~70 5 ~04 60L Tt | n
8 6.0 0.16 51 1.0 0.03 308 60T
9 6.0 0.18 56 1.0 0.03 3024 60K i
10 7.0 0. 24 74 1.5 0. 05 10 | 6024 90T
11 7.0 0.25 77 1.5 0. 05 604 _E90AT
12 6.0 0. 20 62 1.0 0. 04 604 _E90AT
0 0 7 60L Tt |TeEZK % i
0 . 5 ~05 60L Tt |TeEZK % i
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20 — — — — — — | 60LA OO |9Ikko 2 (R 5TAE30cm)
21 — — — — — — | 60LA OO |9Ikko 2 (R 5TAE30cm)
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30 6.0 0. 20 62 1.0 0. 04 8 | 60LL 90
31 6.0 0. 20 62 1.0 0. 04 8 | 60LL 90A;
32 6.0 0. 20 62 1.0 0. 04 8 | 60LL 90A;
33 — — — — — — | 60LA 90T |9Ikko 2 (R 5T4E300m)
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3 0.34 0.34 0.62 0.62
1 0.25 0.25 0.45 0.45
5 0.10 0.10 0.18 0.18
6 0.18 0.18 0.33 0.33
7 0.16 16 0.29 29
8 0.10 0.10 0.18 0.18
9 0.13 0.13 0.24 0.24
10 0.28 0.28 0.51 0.51
11 0.30 0.30 0.55 0.55
12 0.16 0.16 0.29 0.29
13 0.14 T4|  0.25 25
14 0.37 37| 0.67 67
15 0.16 0.16 0.29 0.29
16 0.16 0.16 0.29 0.29
17 0.16 0.16 0.29 0.29
18 0.16 0.16 0.29 0.29
19 0.16 0.16 0.29 0.29
20
21
22 0.16 0.16 0.29 0.29
23 0.16 0.16 0.29 0.29
24 0.16 0.16 0.29 0.29
25 0.13 0.13 0.24 0.24
26 0.13 0.13 0.24 0.24
27 0.13 0.13 0.24 0.24
28 0.13 0.13 0.24 0.24
29 0.16 0.16 0.29 0.29
30 0.16 0.16 0.29 0.29
31 0.16 0.16 0.29 0.29
32 0.16 0.16 0.29 0.29
33
34 0.16 0.16 0.29 0.29
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17 0.07 0.07 0.13 0.13
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